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Mz =0l OIS AHIA MB(HOHH)
Celr EERQ HOD 29 (S5 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OX s RHA 30,000& = 3CH 90
Oo=tdNdeeg2 526
-4 22 75,0008 * 23] 150
ENE=PNE 47,0003 * 404 = 23] 376
OXgEE = 1,560
-4~ 8ol = 380,000& = 2CH 760
-E23=2 800,000& * 1CH 800
(@)sE=3s] 7,000,000& * 90/100 6,300
202 04| 5,000 5,000 0
01 2LH0HI 5,000 5,000 0
OgHAR FA 5,000
206 M = Hl 4,500 4,500 0
01 & bl 4,500 4,500 0
O=EZRS Z2AXTH W& 1,500
Og9 g 754 3,000
23AE Y FBHISA 22 (HoH) 207,695 82,587 125,108
101 @121l 14,235 13,267 968
04 JI2ZtHI22XNHESE 14,235 13,267 968
Ofigr=2 2g| o8 51,760 * 20 1,036
Oogz2d 22 o2 51,760& = 250 12,940
O35 - 2t0|st &4 22 o2
51,760& * 5& 259
201 LEt2 A Y| 52,060 48,820 3,240
02 33249l 52,060 48,820 3,240
OJtlgs L ss dI| 23
2,700,000& = 12& 32,400
Ogr=2 Mol =2 10,000& = 12& 120
OMY D Selx=HE Mot Z3
45,000& * 12& 540
O=EXa & AlEKXHl 2,000
Od= = Abl 2,000
OX& = XYl 15,000
-4~ 8ol = 3,500,000& * 2CH 7,000
-E23=2 8,000,000& * 1CH 8,000
401 Al HI L 2 0HHI 61,400 0 61,400
01 A& HI 61,400 0 61,400
OssF=H A2l 20,000
OFE0JAZSAA ZEHAM 22 AHA=1500m") 30,000
OFAMN UWAEsEI 2 11,400
405 XtabF S| 80,000 20,000 60,000
01 AL 2B F SHI 80,000 20,000 60,000
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